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The Cold War began after

(A) Disintegration of Soviet Russia

(B) Second World War

(€) Establishment of League of Nations
(D) First World War

[fthe diameter of the base ofa cy
pillar is 4m and its height is 21 m,
the cost of construction of the pillar at
Rs. 1.50 per cubic metre 18

(A) Rs. 410 (B) Rs. 400

(C) Rs. 396 (D) Rs. 420

The Autobiography of Nelson Mandela is
(A) Walking with Wind

(B) Freedom in Exile

(C) Long Walk to Freedom

(D) A Testament of Hope

The most unique mammalian
characteristic is the presence of

(A) Mammary glands

(B) Eyes

lindrical
then

(C) Feet

(D) Heart

Development that meets the need of th
presentgenerationwithoutcomprom" P
the ability of the future genera’ to

meet their own needs 18 knowr
(A) Natural Conservation

(B) Sustainable Development

(®) Ecological Balance
(D) Environmental Gradation

1+ 1 ?
1
].-’r—-—'I
1=
3
4 4
3— 2—
@ 37 ®) 27
4 4
1= =
(€) 7 (D) 47

AUKUS partnership is between
(A) Australia-Russia.-U.S.
(B)/I Australia-Ukrain-U.S.
(C) Australia-U.K.-Russia

(D) Australia-U.K.-U.S. )¢
o
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8. Select the correct mirror image of the given

10.

11.

12.

13.

14.

1%

figure when the mirror is placed at line AB.

Nitrogen fixing legume-bacteria is
(A) Rhodospirillum (B) Rhizobium
(C) Anabacter (D) Plasmodium

Scheme to remove physical interaction as
much as possible for income tax payers is
(A) Tax-X Scheme

(B) FAME-II Scheme

(C) Faceless tax scheme

(D) FAME-I Scheme

An extended family tree outlining far

relations across generationsis ter . as
(A) Sigillography m:r £y
(C) Epigraphy D) N, of these

Simple intereston a certain sum for 6 years

18 —2% of the sum. The rate of interest 1s

(A) 8% (B) 5%%
© 8%% D) 6%

MIDI stands for
Memory Instruction Device Interface
Memory Instruction Digital Interface
(C) Musical Instruction Device Interface
(D) Musical Instrument Digital Interface

Which number come in the place of
question mark ?

MB, 15, 45, 41,
164 B)

65
(©) 195 (D) 74
LA D [4h

11

i

8.

10.

12.

13.

14.
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& T a1 @ @i ufafia Ff0 s adn
ﬁ%@/\lsmr@w%.

o
B

mﬁwaﬁ%mwmm‘r&m

Figi 1 A B

() |- X e
B) FAME Hzﬁrm

(€] TEfed ST

((D) FAME-I T

ifeai & e
g%%?m ;ﬂw%im

e farfdra Tt w6 @i & foig, wan s 39

9 . )
R — 9 a7 R, SIS ST E
25 s HXeXY

¥ X

1
(B) 650./0 :\ | e
1 ’ . -
© 8 ADT 6% ol g

wHaATEEIeE (MIDI) & fore amn %T{
(&) W) S feade s

(B) Bttt g fefSrea szrﬁm

©) Seoae feage sehd

(D) e fefored ot

e frg % e W -H g st ?
11,9, 18, 15, 45, 41, "
(A) 164
(©) 195

(A) 8%
%

(B) 65
D) 74
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.

number, the result is 5 less than b times
Lr15 (D) 35
(A) glycerol
(D) borax %%
4% g™ 8% and 10™ letters and forming the
(C) long (D) inquire
of India.

19. Which Section of IT Act deals with th
(C) Section 4 (D) Ser 2

20.

Dry indehiscent fruit Oy

the number. The number is

16. Shaving soaps contain a gum called
(B) trisodium phosphate

17. Consider the word TRICHOGENOUS, on
word using all of them, that word means

18. Borrowing by the Government of India is
(A) Article 29 (B) Article 293
legal recognition of electronic records”’
Which of the followi .8
(A) Wheat (B) Rice

15. If 10 be added to four times a certain

(A) 25 (B) 20
is added while making them.

(C) rosin
reversing the word above and taking the
(A) far (B) near
defined under of Constitution
(C) Article 14 (D) Article 292
(A) Section 6 (B) Sectior ~
example for Cypsela . .« of
(C) Marigold (D) Oak

S CMMS-g,

) A\ B
ﬁ@aﬁm%ﬂﬁwﬁ 10 Sigy
- ?Ww den % 5 T8 5“%@?&
e ¢ (B) 20
5 ‘f? (D) 35
el [ # Uk TR
arefl R 3§
16. a@ﬂﬁm%,ﬁﬁmmﬁmmﬁ:
(B) grEEEA ,gfﬂ
() ufs O H) A
(D)Ehiag(;“lj Usjﬁﬁmm
s %E)L%Ig gd 3 10 & FF R A g,
ﬁa’méayraaaﬁm?i% it
(B) near (=,
,(Qé))’ i;g (D)' inqt{ire Mt
18 mmﬁmﬁvﬁgﬂ?ﬁuaﬁwa
________e.ﬁﬁ“ﬁ%mﬁaqﬁﬂﬁﬂ%l
“(A) T 29 (B) ¥1T=37 293
« (0 TS (D) T 292
19. N@Wﬁﬁ-ﬁﬂ?ﬂmﬁ_
aﬁmmﬁwﬁm% !
(A) YR 6 (B) 911 5
(C) T 4 (D) ¥ 2
20. ﬁm%ﬁﬂﬁﬂﬁ#-m{mmﬁ%:
msﬁwwmmw%?
A & (B) F&e
(©) Hmes (D) I
91. 3 e ‘Caste’ El_é‘ile"ﬁ =3
fan T 21
(A) Casta (B) Casto
(C) Cast (D) Casti
22 el GuIer 0.535353... % fog i v
28 27
03 26
©) 99 @) 3
23. e W T v PRg
A FE TR &
(A) o fsst (B) I fo
(C) Ier famae (D) BIOS

21. The English word ‘Caste’ is derived from
Portuguese wor
(A) Casta (B) Casto
(C) Cast (D) Casti
99. The fraction for the recurring decimal
0.535353.... 18 79
™ = ® L
53 53
53 26
99 @) 53
23. performs a power On self
test that checks the hardware devices
are present and functioning properly.
(A) South bridge  (B) North Bridge
(C) North chipset BIOS
X15
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24,

s

A ool \0
Apoliceman goeg o

the i
a}:](anthlll‘rns right and goes straight 3km
! Ins right again and goes straight
N. In which direction is he from th
starting point ? i
(A) North-East (B) North-West

,LG'}’SE}'uth-West (D) South-East

International Day of Democracy is
celebrated every year on
(A) January 26t

(B) September 15t

(C) August 15t

(D) None of the above

Identify the odd one out.

(A) Papaya (B) Cabbage
(C) Cucumber (D) Brinjal

A bike covers g certain distance at the
speed of 64 km/hrin8hours. Ifa bike wasto
cover the same distance in approximately
6 hours, at what approximate speed

raight 7km eastwards

25.

26.

(0
Lt  §
'Y

Ol
217.

should the bike trave] ?
(A) 75 km/hr (B) 85 km/hr
(C) 70 km/hr (D) 90 km/hr

28. Wilkinson catalyst is a comp)

used for the hydrogenation of alkep
(A) Ruthenium (B) Platin’
(C) Rhodium (D) Pall n

Direction 29-31 : Read the followingit.ormation
carefully and answer the questions that follow :
I. Five friends P, Q, R, S, and T travelled to
five different cities to Chennai, Kolkata,
Delhi, Bangalore and Hyderabad by five

different modes to transport of Bus, Train,
Aeroplane, Car and Boat from Mumbai.

II. The person who travelled to Delhi did not
travel by boat.
III. R went to Bangalore by car and Q went to
Kolkata by aeroplane.
IV. S travelled by boat whereas T travelled by
train. _
V. Mumbai is not connected by bus to Delhi
and Chennai.

Which of the following combinations of
person and mode is not correct ?

(A) R-Car (B) T-Aeroplane
(C) S—Boat (D) P-Bus

29.

CMMS - S3
24, QEEF‘(-['QE]W 3
ot < s & T 1 37 o e
ot 33 Tt efvey wrerar 2 sy
g:[ d majfﬂ :ﬁgﬂ !”%:ﬁm%l?ﬁ{.
(A %'Ef H1 ey o 3 7 '
) IW- '\ (R . ._‘
(C) ?:’F&TUI—W ([Jj :;mﬁq
25. H BT SRy oy o,
(A) 26 Fa
(B) 15 fiyaan
(C) 15 2
(D) 3RAT T8 FE i
26. vy &1 grEm | 5>
(el ® m A
(C) werg (D) Fm l-l;g' o
27. U WEF 8 W F 64 Frel /ey Ay o
Afem g mach 2 omF ame mr et
1 T 652§ F F 0 A, 1 A
A) 75 fel/g By 85 fet
(C) 70 Tt /e (D) 90 &t /==
; 28, Toferm 3ot oedhi & eediEm 29
T e 2| *
(A) ®efEm (B) wifem
(C) Ufezm (D) derfeay

R 29-31 : Frefirfas g 51 s 3 e s
St 3 I i
L waf P, Q R, S, T o frs i .
, Tkt SR af% Revae ae oie A 5,

TCRTIEY, BT TR, S S 1 27 T & 7 &
1. Rt o aren saf A1 & e
IMI. R %W 500 AR 8 01 3R Q 7 e 20
T |
S T T AN HTAT R G T TS IR A
T 2|
V. s, 7 R ofk 3 @ et @)

99, freforiad o @ sufdq ot gvm &1 w1 -/

IV.

T qe TR R 0 y
(A) R-®T AB) T - ¢ IE
) S-7m™ (D) P-s¥
O
X15
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30. The person travelling to Delhi went by
which of the following modes *
(A) Aeroplane rain
(C) Car (D) Bus

31. Which of the following combinations 18
tryefor S ? )

) Chennai — Boat (B) Chennai — Bus
(C) Datainadequate (D) Delhi — Bus
32. Inthisquestion, two statements are given
followed by two conclusions. Choose the
7
ok
L,

Conclusion (s) which best fit (s) logically.

Statements :

1. No man is woman.
2. No woman is lady. EE
M Ej

Conclusions :
I. No man is lady.
II. Some men are not woman.
Y Neither conclusion I nor II follows
(B) Only conclusion I follows
(C) Both conclusions I and II follows

(D) Only conclusion II follows

33.\ A sum of Rs. 6,240 is paid off in
- 30 installments such that each installment
isRs. 10morethanthe precedinginstallment.

The value of the first installment is

(A) Rs. 60 (B) Rs. 30
(C) Rs. 63 (D) Rs. 36

In a marchpast, seven D&
Q is stal g left to

standing in a row.
R but right to P.O is standing right to
N and left to P. Gimilarly, S is standing
right to R and left to T. Igind out who 1s
stapding in the middle ?

) Q (B) R

) O (D) P
35. If a person gets infected with the
SARS-CoV-2 virus 14 days after the
second shot of the vaccine, it is called as

(A) Break even infection
(B) Break back infection

(C) Bfoken infection
Breakthrough infection
to

E]'%E-'J Bears undergo a period of

f escape stress during winter.

Z:® (A) Migration (B) Aestivation
(C) Sporulation (D) Hibernation

X15
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30.

31.

32.

33

35.

36.

|

I. qﬁﬁmﬁﬂwqﬁal
IL. zﬁamﬂaﬂréqﬁﬁl
A) qé’rﬁwﬁlﬂﬁﬂwm%
(B) WWIWW%
(©) aﬁﬁﬁélaﬂmmm%
@_)WWIIWW%
6,240 T 1 TR F T 30 et 4
3 3 fop W fohed et e

a3, 10@31%3*1%@%%%11@%

A Q ®B) R

©) O D) P

7fe ws safdd SARS-CoV-2 foramop & &% 7

faefta wm & 14 et aTe weefa € S e, 7
____ #Edsl

(A) 3% g GHAT

(B) 3 deh GshHUl

(C) F AT

(D) Sehey HHATT

mwﬁﬁﬁmﬁmﬁ%ﬁww,

%) Tk yafy &red 8|

INBELE @) s e

(C) fSTThsT DR UGIEEL
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37, Wh g 7
8% mo;;ﬁe we find Adai-dinka-Jhampara |-:37L-:'-] 31518 - fomt a1 -ream wfesa wed o feva 2 7
(A) Ajmer B) Agra G @ s ) S
(C) Janpur (D) Delhi +A - (0) TR D) fadh

38.

39.

40.

41.

42.

43.

3

0

44,

45.

Some amount out of Rs. 7,000 was lent
at 6% p.a. and the remaining at 4% p.a.
If the total simple interest from both the
fractions in 5 years was Rs 1,600, the

S nt at 6% p.a. was
XB%OO L

2,000
(C) 3,500 (D) none of these

In a given Url http: /www.xyz.com/tutor/
start/main htm, www.xyz.com is a

(A) Path _B) Domain name
(C) File name (D) Protocol
5:36::

(A) 11:55 (B) 9: 45

(C) 3:24 Sy T:97

In October 2021, World Bank has

approxf.ed a USD 150 million loan program
for which of the following States ?

(A) Punjab (B) Rajasthan
(C) Tamil Nadu (D) Haryana

Which of the following countries will host
the second United Nations World Geospatig’
Information Congress in the year 2022
(A) India

(B) Afghanistan

(C) Sri Lanka

(D) None of the above

In Denmark, the movement has been so
successful that practically every farmer
is a member of which type of following
farming ?

(A) Co-operative farming

(B) Truck farming

(C) Viticulture

(D) Mixed farming

According to Human Development Index
of 2016 the rank of South Korea was
(A) 25 (B) 18

(C) 14 (D) 130

_ unit accepts instructions and

data from the user with the help of input

devices.

(A) Storage unit
27 Control unit

(BB) Output unit
(1)) Input unit

39.

40.

41.

42.

43.

44,

45.

7,000 %7 H8FZ AR 6 %l ad Frma

3uT fom T o1 i v 4"naﬁaﬁ7ﬁmn
) . ) % g ol 2
Lotoer %, e A eV
(A) 5,000 (B) 2,000
(C) 3,500 (D) z7d @ =i 7
s fgu T Url http://'www.xyz.com/tutor/
Startfmallin.htm, L} www.xyz.com TF
A) T B
f(ﬂ tm;'aﬁrl ED)
B ants
(A) 11:55 (B) 9:45
(C) 3:24 D) 7:77
021 #, Bva % 7 fr=fafaa © 5 B
T a:: 150 faftrm sl 3er % F=0
mmqga% ?
A) ESIE] (B) TS
(C) affeTg (D) &femom
¥ 2022 # Fimfofad & & FR-a1 2 7 w5
g v T e R S ST
(A) wRd
(B)
(D) Eqﬁaaﬁﬁaﬁiré’f
T AA-T N 3 T @ 2
e ) e v R P 3 8 7 T
fEdiF e ?
(A) FEHT @t
(B) 7 @l
(C) 3R ! wdt
D) Fufira @t
T 2016 F WA fETe gEETF F HFET A
AT 1 T F1 91 7
(A) 25 (B) 18
(©) 14 (D) 130
LEDHISECRLRY wiwe! ) w9
ﬁmgﬁﬁﬁeﬁmmame\ﬁwm%]
(A) SSTYT T (B Frfa g
() Fraso g (D) T §TE
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46. Bharat QR - o4 d - AT ELE
payment mech:n%il (dJOdeibassdb filg]ml 10 gﬂﬂﬂ% fore a1l faerféra m% 5
(A) State Bank U”ndifvc oped by A) G e dh o4
(B) Reserve Bank of I r('l' (B) BIGR fisrel
(C) NABARD i (o) TEE
(D) N(me of the ahove } (D) ﬂﬁa’ﬁ ‘a ﬁ aﬁg :ﬁ;ﬁ
47. software enables users to query | 47.  — — SINEAR mmavﬁéﬁ?m :
t;he Iindex and that usually reilurn}s 7 |em Al ? 3ﬁ'{ Raak "-; 4
(lrifu t:t;r;) term relevancy ranked order. gaed1 T HH o uftore gt 2| h
ase geEd
‘(’Bj/ll‘?ldGXing software Eg; sefaa qited
((g)) SE?;L}] engine mechanism (C) & 3o HHFH
er (D) TITEET
48. It is an approach or per - 48. @i & fee | GHIS T AIT F4 3
study the society i?fgf;g;gﬁ S ' %qaq%ﬁ; ERIEIEEISIRER=eau
(A) Behavioural approach a1 e =)
(B) Dialectical approach —A) W
(C) Holistic approach O e e R
(D) Integral approach ((Dg arfira m
49. Which of th i ; ; _ :
are the Fundimental R i e s A
provided by our Constitution ? B —
A) Right to Freedom A) il
B) Right to Equality (B) ®HTT 1 SfIFHN
C nght against Exploitation (€ o faer JAf
All the above ) IqQiEd guft
90. Reserve material in prokaryotic cel’ e HymErreT § s F iy
stored in the cytoplasm inrg;le for of o [ 559 1 forg w9 Giﬂ?rﬁﬁg g7 ekl
(A) inclusion bodies (A)
(B) galactic bodies (B)
(C) golgi bodies (C) et famat
(D) intrusion bodies (D) Fgs fami
A cube of volume 64 c¢m? is cut RS ore! 3
\ into two smaller and identical e H cm.13 F T T A A B A
: _ Euboids.f'l‘he fa%esh of di{)negsions YA T ST ST 2| TH I & 4 x4 F&T
x 4 of one of the cuboids are : . :
pﬁinted “;‘ith lf:glack color and It I H B TR T A R o
the rest of its faces are painted ' Uk K 13
with yellow color. Ong pair 7t ) 1 Qo Al
of 1atd acent 1ﬁaces f{:}éat do not 4 x 4 R A fR o g oo
include any face of dimensions AT : \E)
4 x 4 of the other cuboid are .g@i.aﬁlﬂé TR aﬂtw%ﬁw@f
palft%dtw%h yellow color aéld th}e: et U1/ TN ST ) 378 21 sy § § 0@
rest of 1ts faces are painted wit ¢ o
blf;)ckdcolor. Now each of the two 1 32 91 S 1o 1 e o w1
cuboids are cut into 32 smaller R R BETEN 3 MG
and identical cubes. How many 4 AR A u
of the smaller cubes have exactl FCRIS IR0
two black and one yellow faces *
(A) 4 (B) 6 (A) 4 (B 6
C) 5 (D) 3 C) b D) 3

(15

Download from www.MsEducationTv.com

e



e

52. Partnership for Clean Fuels and Vehicles

‘(/w’initiative by

A) UNESCO

(B) UNDP

(C) FAO

(D) UNEP

When did Mohammad-bin-Quasim
invaded over India ?

(A) 718 C.E. (B) 714 C.E.
(C) 719 C.E. (D) 712 C.E.

In a row of ten boys, when
Rohit was shifted to t¥v6 places
towards the left, he became
seventh from the left end.
What was his earlier position

from the right end of th ?
(A; Fourthg ! Oﬁf/lscggond

53.

54.

e al

(C) Sixth First

Allen’s rule is with respect to
(A) Fishes (B) Mammals
(C) Urochordates (D) Invertebrate

Insert the missing character.

vz |? |S 19 j wild
(3|R |OR|?

J|? G1]1C |3

(A) WLI (B) UOI

(C) VKJ _ByWKJ

National Bank for Agricu ¢ and

Rural Development (NABARD) came

into existence on

(A) 12 September 1994
2 July 1994

(C) 12 July 1982

(D) None of the above

L.CD stands for
(A) Liquid Cathod ray Display
(B) Liquid Crystal Display
/@)/L{quid Color Display
(D) Liquid Code Display
59. The largest tributary of the river Indus is

(A) Chenab (B) Ravi
(C) Sutlej (D) Yamuna

55.

56.

57.

58. OF0)

=

{

9-

52.

53.

54,

57.

58.

59.

CMMS - S3
TMERRIT B Tl e 3 Aewew (PCFV)
B RN oy |
(A) UNESCO
(B) UNDP
(C) FAO
(D) UNEP

TierE o - R 3 e s Fo o 7
(A) 718 C.E. (B) 714 C.E.
(C) 719 C.E. (D) 712 C.E.

T TFSeh! oh1 Ueh Ut H, sw A 1 2 2 A
g ez mn, a7 and 7@ @ awat 7 Ty

uferd o 30 37 | 38 et foufa = of 7
(A) =reft (B) Zwd
(C) &d (D) we
T &1 fam FEed | 2
(A) mforat (B) Tauw
(C) FhHicar (D) TRl
Z |? |S

R |0 |?

5 g |¢

(A) WLI (B) UOI
(C) VKJ (D) WKJ
TS i g fawm =
(NABE-IF?D) T fee
o TR T |

(A) 12 ﬁﬂﬂagt 1994

(B) 12 1994

(C) 12 JTE 1982

(D) Iutiad § | ¥ el

TaHlE! (LCD) & R g |
A) fafrrs Fare i feeat

B) fafrre e feeat

(C) fafRrs wer feed

(D) frfare i feeet

fieg 7t o ) e v A @
(A) A HRUE

(C) waers| (D) Fg
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60.

61.

62.

63.

64.

65.

66.

67.

68.

X15

India has ratified which among the

following International Conventions oOn

COI'I‘&UOH and bribery ? .

(A) Chicago Convention against

Corruption 2000 ;

gB; UN Convention against Corruption 2003

C) New Delhi Convention against
Corruption 1998

(D) Geneva Convention

The exaggerated response of the immune
system to certain antigens present1n the
environment is called

(A) Auto Immunity (B) Synergy

(C) Syllogism (D) Allergy

How many odd numbers are there in

the sequence which are immediately

preceded and also immediately followed
by an even number ?

A) 3 B) 2

€) 4 D) 1

While measuring inflation, we take into
account a number of goods and

services used by the people of a country.
(A) Large (B) Zero
(C) Infinity (D) Small

What is the maximum number of piece
into which a cube can be cut by 16 cut

(A) 222 (B) 256

(C) 252 D) 216

National Dairy Research Ip e
(NDRI) is established in D70
(A) 1966 (B) 1988 &
(C) 1960 (D) 1987

Who was the author of Devichandra
Guptam ?

(A) Vishakadatta (B) Rajashekara
(C) Shanku (D) Dandi

If 15 men can build a wall 108 m long in
6 days, what length of similar wall can
be built by 25 men in 3 days ?
(A) 88 m (B) 85 m
(C) 95 m ) 90 m

Golden Crescent of opium production
refers to

(A) Nepal-Pak-Afghan

(B) Iran-Pak-Afghan

(C) Bangla-Pak-Afghan

(D) Iraq-Pak-Afghan

-10-

60.

61.

62.

63.

64.

65.

66.

67.

68.

Ay 1S

CMMS - 3

e
) ez % fgerr T = 2000
B) T %ﬁmwaﬁm 2003

©) syezr 3 faeT 7 (2l #1995

() forar FH=aT
qataror # 3UfEdd 9
a3 &1 srfawfafsan

gfesri & fa5g afarigs
_ wEdmt g

(B) fasfi

(D) uersi

e frem shd # s i 7

e e e o w7

A) 3 (B) 2
(C) 4 D) 1
mErehifer 1 4190 F7Y, §Y TF <91 F A G
S Y T8 FEgeT 3 Haredi #

e T fEm G 8 |
A) w8l W

(C) 34 (D) 3

TF U9 F1 16 H1E g AfFH fFa zHe T
1T ST qHAT R 7 6
(A) 222 B) 256 ) ~
(C) 252 (D) 216

NDRI &} EIToT e g3 7

(A) 1966 (B) 1988
(C) 1960 Py 1987

AR T & AEH P E 7

(A) faemees (B) TG

(©) 7% O #F
IRk 15 TW 108 X &@fl dlan 6 T 5 57
T 8, A 26 T q AW A § e R
) foraht e oA s g R 7

(A) 88 m (B) 85 m

(C) 95 m (D) 90 m

HFW IaeT @1 @itk g

qafod )

(A) T -1 - HAHH

(B) - - HHITH

(C) ATEAT-qTeh - BT

(D) S —9Teh - T

) b \j
e

({47

N ©

\‘{ W

Loy Tﬂ?d Y
B Xt 7
<

Download from WWW.MSEdUCa'[iOﬂTV.'Com



% CMMS - S3

69. If ‘may august march’ is written as 69. Af2 ‘may august march’ &' ‘hig lwm cac’

‘hig Iwm cao’ and ‘december jul : : ' Y ¢
; ; July march ‘dece ) arch’ @1 ‘sow lwm
as ‘sow Iy¥m skz’ and ‘may april december’ B ncmanlee July o A

‘ Z and ' 3 I december’ #1 kqx hi

/Zi‘g.’l })J'g sow’, then ‘april’ is written as :ﬁ;,?g@m%?r% d(:;;:lrln%;;? ’:ﬂ?ﬂ% §
: kgx (B) s}.{z (A) kgx (B) skz
(C) sow (D) hig (C) sow (D) hig

70. Copsifier the following statements about 70. FHSETE THTS A1 AdergEn & an frefeafiaa
socialist society or economy.

@wZE Rl yi eyt w femm FHrfso)
bar [. Distribution under socialism is 1. TETSETE % qed fadro A 1 FETE W
HE supposed to be based on what i arofed HTET ST 2 3 3a WA A

people need and not on what they @tie g%d Bl

can afford to purchase. "
I1. In a socialist society the 1. TuTsETE 9uTs § 96T 48 a4

: Tl T &l &
government decides what goods are 2 : -
to be produced in accordance with I o Eﬂﬂaﬁ il
the needs of society. fepan ST R
Choose the right option given below : freferfaa & @ wdl fashes =1 == #)
(A) %th the statements I and I are correct (A) AT FHIA 1 A IEd
(B) The statement II is correct By Fem 1T R
©) Eloctol;:;l; statements [ and II are ©) 1 alve I S
(D) The statement I is correct (D);ﬁéﬁ L= ?
71. Abusthatconnectstoall three components | 71. “@?ﬁ'—h (#@.dr g, 7, VO feams )= I
(CPU, memory, /0 diéce)ﬂ,'\s called a * et v B FE R
(A) Public bus System bus (A) fste 5@ (B) Fr=m=w
(C) Private bus (D) None of these (C) vgae 58 D) 75 8 78 T
72. The government may spend an amo ' 72, OISR e TR TEBC U 0 TS %w
equal to the revenue it collects, t' .s TR 1 =09 L Gl 2, 38 FEd 2|
known as ) EqfeTd we
(4) Balanced budget ! ?@% il
(B) Surplus budget
(C) Fiscal budget (C) TSR aste
(D) Deficit budget (D) ®Ie T ST
73. A system of dual control at the district 12, Ay, 1861 Framr F TS
level is introduced under Section R e yonelt # yEeE &
of the Police Act, 1861. i )
O
(A) 5 (B) 4 Rap 52 (A) 5 B) 4
(©) 6 (= (©) 6 D) 3
74. Chess Grandmaster from India after | 74, Wd & A UTeHR aa étsrl%ﬁﬁ MEHRR
who crossed the ELO Rating of 2500, At wioeast g‘g\ﬁa’ g ® 2500 F ELO
in  Vezerkepzo Grandmaster Chess &) o T R

Tournament at Budapest, Hungary is

(A) R. Raja Rithvik (A) IR, TS HfA®

(B) Raj Rothak (B) W ﬁ?{'ﬂfi
(C) Pankaj Rothak (C) TS UdH
(D) Abhimanyu Mishra (D) srfny st
<11+ X15
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78-

79.

82.
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Which of the following symbols must an |

e-mail address have ©

A) & (€5 I

C) @ (D) none of these
Sita is‘ the niece of Ashok, Ashok’s
motheris Lakshmi. Kalyani is Lakshmi's
mother, . Kalyani’s husband is Gopal.
Parva_\thllls the mother-in-law of Gopal.
How is Sita related to Gopal ?

(A) Sita is Gopal's great granddaughter
(B) Gopal is Sita’s father

(C) Grandniece

(D) Great grandson’s daughter

100 J of heat is produced each
second in a 4 Q resistance. Find

the potential difference across
the resistor.

(A) 15V

(C) 20V
IPC has total
(A) 515

(C) 516

=%
ORI

=1

B) 10V
D)5V
Sections.
(B) 511
(D) 510
is a device that moves in a’

distribution and controls the movemr
of the cursor.

(A) Joystick

ouse

(B) Keybos 3

(D) Nonr  .aese

The transformation of wate

water is called as

(A) Sublimation

(B) Condensation
vaporation

(D) None of the above

On a journey across Kolkata, a taxi
averages 50 km per hour for 50% of the
distance. 40 km per hour for 40% of it
and 20 km per hour for the remaining.

The average speed in km/hour, for the
whole journey is

(A) 35 (B) 40

(C) 45 (D) 42

Tiny bodies that consist of mainly genetic
material and a long tail that helps them
to move towards the female germ-cell is
(A) Thrombocytes  (B) Qocytes

(C) Neutrophils APY Sperms

.pour into

"
9
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& K\ 12
4 Y
/ (\(8”
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qmiﬂﬂﬂﬁﬁﬁﬂﬁﬂf@ﬁﬁﬁﬁq—ﬁm‘éﬁ
=fee 7

(A) & 4 S
}i".’}’m (D) 'ﬁ'ﬁﬂﬂﬂg?{ﬁ
ofer s797v ) wefishl B | 3797 2l AT A )

el etedt 2 aran 21 Feamft #1 afd M
3\ e e g 2 | e e #@
eI Gl (e & 7

iy e Tt Y o 2

(B) Tirarer € = e 2
(C) 'IT\-FﬂGﬂ
(D) T Y T

we 4¢) wfatra & gfd @ 100 me-ﬁ
et 2| wfenas d Fraarar 3@ #:7)

(A) 15V B) 10V
(C) 20\& (D) 5\-7%

515 = ﬁl
(C) 516 D) 510

T IfFa & S adt famedt § == 2

3 w1 ifa =t T = R
(A) STafees (B) #FErE
(C) w=H (D) 3% & 1 7
SETaTe T Siel § qiads FEeT 2
(A) 3= 791 = form -
(B) E&yTT =
(C) arediertor
(D) IWEa § @ =K 77

TRl o A W, 50% T F AU 6+
afa fd 50 Tt ofa w1 21 40% WF T
40 Tt wfdt w127 o i gt 20 A sl =
3 H 2| i advga iy (et mr ) 2

A) 35 (B) 40

(©) 45 (D) 42

B2 frerm ot arfvaera: syregafive wand -
o1efl s o o 1Y & Y 3R wran 9 HE
SHERER R E TG

(A) Wi (B) g
() =M (D)
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3. InIndex number of which vear 5 . x
i price is assumed to be ﬁ)}ff’a‘ 83.  fa A o geer T e 100 srEEE e ¢

(A) Base year 11 (A) AW ad
(B) Currer_lt year \ (B) 'a‘rq_'dﬁ
(C) Selection of prices \ (C) W &1 I94
(D) None of these | (D) =zt & = et
84. _ is asetofrulesthat bles 84. et @1 vk 2 =1 U JAE
a user to transfer files frozn ;ieesl;zt)o(;; %1 U foeen @ aH ﬂq'g?ﬁq roTata 0 &
to another. | T X
TP (B) http 1 (A) FTP (B) http
(C) Telnet (D) None of these (C) 2eHe (D) 778 | =18 F#1
85. g\(;wzmany odd days are there in 400 days ? 85. 400 ftt & fora frm fm 8 7
(B) 4 ' B) 4
(C) 3 (D) None of these ((f% 3 ((D)) 78 | w0 AE
86. A marble block of mass 2 kg lying on ice 86. UM gﬁmmqmmﬂmﬁﬂm
wher} gliver} a velocity of 6ms™ is stopped w@ g, 5w 6 /i/ Faran g s R, ??WBU*"T
by friction in 10s. Then the co-efficient of | X g SW 10 Tee T T a1 ¥ | =0 T
friction is i ®) 0.03
(A) 0.06 (B) 0.03 (A) 0.06 .
(C) 0.01 (D) 0.02 (C) 0.01 (D) (;(?ﬁa i
87. The layer of the atmosphere in which ooy ) a8 T foEd ifem
ragio wg\{;&s f(rans?ilttesdpfrolrs aarthare| OC m qwﬁaﬁg‘?
re ed back to the edr :
/{A”J}If)tnosphere _ \ Mesosphere A) A Hed B) ﬁ'@ﬁ'@ﬁﬂ?
(C) Troposphere (D) Stratosphere O LRSS (D) @Hdq™ "Et
88. Which of the following Portal has been  gg ffafaq # & HW-81 T TR F=H
developed by the Central Government ' TR s AR T § o W
order to provide a platform for senior ci*” s ST AT R 7
in India seeking employment opport”  ues?
(A) CPGRAMS Portal &7 CPGRAMS Wréw
(B) COWIN Portal (B) whifae qé
(C) SACRED Portal (C) ¥shs WA
(D) None of the above (D) IR | B A1 TR
: i ' T W
89. If the third day of a month is Tuesday, | 89. Ife freht TE & a7 TeEr |,
which of the following would be the 4 TR ¥ 273 A A O R e e g R
day before the 27" day of that month ? fmgm ?
(A) Wednesday ) Monday (A) AR \E;‘ SIREL
(C) Sunday (D) Tuesday (OREEL (D) WTEER
- : ?
90. In which of the modes of cross pollination | 90, R T 1 frg R & o Iy IR R ?
the pollination is brought about by wind ? A) Sl
(A) Zoophily (B) ErEeftheh
drophil i
(g) IE_I.y : = h)ir] () TRt
(C) Entomophtly ey e e
(D) Anemophily o -
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English Language
——=-151 Language
Fill in the blank
word for cry
alternatives

with appropriate
of a creature from the
Blven below it.

(B) warble
(D) gibber

Give one word substitute for the
followmg »

Torn and i Poor condition
(A) Tattereq (B) Taboo
(®) Tedious (D) Tardy

Fill in the blank with suitable article
from the alternativesg given below it,

———— Poor depend upon the rich.

(A) A
(B) The

0 article requireqd

(D) An

In the following
has been given in Active/
Passive voice. Qut of the four
alternativeg suggested, selec’
the one which best expres-
the same sentence in Par
Active vojce.

sentence

Why did your aunt not give me

some money ?

(A) Why I am not given some money
by your aunt ?

(B) Why is some money not given for
me by your aunt ?

(C) Why were some money not given
for you by my aunt ?

(D) Why was some money not given to
me by your aunt ?

Fill in the blank with
phrasal verbs
given below it.
How much will the auction 3
(A) Bring forth (B) Bring in
(C) Bring about (D) Bring out

appropriate
from the alternatives

Wb, |

CMMS ~ 83

fe=et wmn
sigt feeft ] A Er_rd EQl Eﬁ?.f[ "q_?;r‘:pm? Y
mm#amaﬁﬁu_m =y %%i_
(A) srfererifa |
(B) sF=ifad
erem
(D) 37 & FIE e
97. mﬁ_d_h%’(mﬁﬁmj
e T
(B) festfesman
(C) Shral
(D) ¥ & i el

96.

‘9‘5'5\.? 7: + fam = iy
I3TET 2 |
A)
(B) &R
AC) Tart
(D) ¥ & =¥ 7

A & fofe e 2 7
(A) W
(B) &t
(C) o
(D) 379 @ ¢ 7

T y1e 1 ad
(A) &

st (B) Zadh
g

l!lc‘fl!ll']‘__((-‘.') }Ef

(D) 50 9 a3

— _ gfrE

99.

100. {

e

il
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